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PART—A [/ 94—

( Statistics for Economics )

( TRIST AR =Rz )

L. Answer the following as directed : 1x6=6
oS R Mot Sy fu

(@) Who is known as the father of Economics?

@E i wREHT #1921t s am 2
(b) What is primary data?
MNP w2y F 2

(c) Mention any one advantage of diagram in data
presentation.

w%mmfémﬁmaﬁﬁﬁmwzmu

(d) Quartiles divide series into —__ equal parts. (2, 3, 4, 5)
( Fill in the blank choosing the correct one
from the bracket )

DRI 4N GBI SN — 15T Bl I} | (2, 3, 4, 5)
(TR A w7 TH! I Sfomiz 4 S o 74 )
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(2)
() What is range?
off9 2
(f/ What is a project?
o 2
2. Write two importances of the study of Statistics in
Economics. 2
@S <fReRl-Rem s 151 @95 B |
Or / 9337
Mention two characteristics of Statistics. 2
AfRPRYI YO! CIMET Teary 90
3. Mention two sources of secondary data. 2
O SR 51 BT Tewmy A |
4. Find the mean from the following data : 2
SO O TS Wi AT 4
Class interval 0-10 10-20 | 20-30 | 3040 | 40-50
19 s
Frequency 2 7 12 7 2
LIRS
5. What is wholesale price index number? 2
“{fZPIR Yo PRS2

6. Draw a perfectly positive correlation and a perfectly
negative correlation with the help of scatter diagram. 1+1=2

oA Bag g @1 oo @A TR WE GO o Yo

FRTIH SRPA 90|

7. Write two 'advantages of arithmetic mean. 1+1=2

ST Nrerq 751 SR i o
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8.

10.

(3)

What are the advantages of sampling method of data
collection over the census method? 4

TR “Imiq pomTe WAl Moy %7 RART RN [ 2
Represent the following data by a frequency distribution

table : 4
©o SURF 91 ARIO] [Rerew CIfere RS Torgrem 41

17 26 11 20 38 46 27 25 47 10

30 34 33 14 27 47 37 26 18 40

Or / o=4T1

Draw a frequency polygon from the following data : 4
Toq ST o[ BT IR IZgS P 9

Class interval | 0-20 20-40 | 40-60 | 60-80 | 80-100

A S

Frequency 3 5 12 4 1

RAASIRI

What is correlation? State the significance of the values of
correlation coefficient r are 1, -1 and O. 1+3=4

TR 2 TPEH QNI rITH 1, -1 I=F 0 (@ER O [ 97 |

Or / o341
With the help of the following data, calculate index
numbers for 2016 taking 2015 as the base year : 4

2015 3¢ Ry R o wom SIRMT /1 2016 7 AT PIKF
afo 391 :

8C/9

Commodity Price in 2015 (%) Price in 2016 )
e 7y (5371e) 2015 71y (5%1%) 2016
A 100 140
B 155 210
c 110 155
D 190 V1285
E 95 160
( Turn Over )




(4)

11. Find the median from the following data : 4
oo R SIS <11 N Fefq 4

Marks 0-10 10-20 20-30 30-40 40-50 50-60 60-70 70-80
LES

No. of Students| 2 18 30 45 35 20 6 4
RG-ZaIF T

12. Mention the necessary steps in preparing a project. 4
<B1 2% oiff CORIR AT AR ~FTFPTR SCE 41 |

13. What is dispersion? What are its measures? Why is

standard dev1at10n called the best measure of dispersion?
- 1+243=6

ﬁyﬁﬁvmﬁﬁmwﬁﬁ?wmﬁwﬁmm{ﬁ
Bl

Or / &3_1

What is mode? Find out mode from the following data :
1+5=6

IR 37 o9 SU[IeR ~1F1 I o 771

Class interval | 20-30 30-40 40-50 50-60 60-70 70-80
A ST |

Frequency 16 20 25 15 13 11
RISESIS
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(S)

14. Calculate quartile deviation from the following data : 6
T SYRIGT <« 5pYF [Roerw el 1

Roll No. 1 2 3 4 5 6 7

ik

Marks 30 38 50 22 40 25 60

59 ‘
Or / g1

What is index number? Discuss the steps in constructing
index number. 1+5=6

5% R 5 2 IpF IR SO ATCFPTR ST 1 |

PART—B / 92— |
( Indian Economic Development )

( oRSw gtafos Tmm )

15. Answer the following : 1x6=6
Soe e Tes

(a) What was the main source of livelihood in India at the
pre-Independence period?

HRF-FATOR SIS TOINS GRFT 24 Tt R wqifeey 2

() When was the First Five-Year Plan commenced in
India?
TRETHS 212 ¥ARF RIS A C2fRet 2

(c) What do you mean by seasonal unemployment?

ﬂy@ﬁ‘w‘ﬁﬁ@{ﬁ?ﬂﬁ‘ﬁ?
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(6)

(d) What is mixed economy?
R e 2

(e) What is economic infrastructure?

HfAfes anafy 2

() Which sector of the economy contributes highest to
GDP in China?
Biwa GDP o SiRIfT (IehT 9% SRR Taefd SeRem 2

16. Mention any two features of Indian agriculture. 2
o FRT R IeN 151 gy Seame 9

17. Point out two failures of economic reform in India. 2

SRTS AT FRN 151 Rwerer (i i |

18. Mention any two sources of human capital. 2
TR T4 R I 161 BT Seagy 40 |

19. Mention any two non-institutional sources of rural credit
in India. 2

ST 2R 4l oI 411 R A1 751 RIS BT Sea 4 |

20. What are the two areas where Pakistan has performed
better than India? 2

& Gt 701 TG R TS AR TRTOLF WP FFEAPN (TR ?

21. What is globalization? Mention one merit of globalization.
. 1+1=2

IR 6 2 (MR @1 R S 390 |
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(7))

22. Mention four poverty alleviation programmes taken by the

Government of India. 4
T[S BIFICT &= 91 DR wlRwel 1R i Sy 4 |
Or / 53-r

What do you mean by rural development? Mention two
subjects related to rural development. 2+2=4

&1 TR I R 3o 2 AN SRR wpere wive w51 R Sea 34 |

23. Write down any four defects of agricultural marketing in

India. 4
TS IR &R JER R @I w1iver Ff o |
Or / 921

How is organic farming superior to conventional farming? 4

(&fie PR IRY T[S R ITEOLT (T AT Tegs 2

24. State two advantages and two disadvantages of
liberalization. 2+2=4

TR 51 e ST 01 SRR P

25. What g sustainable development? Mention three .
objectives of sustainable development. 1+3=4

TRV T 3 7 g Swaee TG 7w Srmy 4 |
Or / o331

Mention four causes of environmental pollution in India. 4

SITOS =R ey BRI PR By 9 |
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(8)

26. Make a comparison between India and China as regards
with population size, density of population, birthrate and
literacy rate. , 4

TPRYT AP, TPRYN TAg, T T AE AFION Y9 (FIS O[O
o DR e e 39

' 27. Discuss the role of agriculture in economic devélopment

- of India. 6
TeTH AR TaEe PRI PRF SCABA 41 |
 Or/ 9

Discuss the common objectives of Five-Year Planning of
India. 6

mﬂWWWWWW!

28. Discuss the various causes of unemployment in India. 6
oRes AR RiYA IRIIR Seasa 41 |
Or / 911

Briefly explain the causes responsible for poverty in India. 6

ORES TRESR I AT FRPFR LT 0 0 |

* % Kk
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